

$$(3) \sum_{n=2}^{\infty} \frac{n^3}{\sqrt{n^2 - 2n^2 + 1}} \quad \frac{1}{\sqrt{n}}$$

$$\frac{\frac{1}{\sqrt{n}}}{n^3} = \frac{\sqrt{n^2 - 2n^2 + 1}}{\sqrt{n^7}}$$
$$\frac{1}{\sqrt{n^7 - 2n^6 + 1}} \rightarrow \sqrt{1 - \frac{2}{n^5} + \frac{1}{n^7}} \rightarrow 1$$

Σ diverges by LCT

(63)
$$\sum_{n=1}^{\infty} \frac{\tan^{-1} n}{n^2} = \frac{\tan^{-1} 1}{1} + \frac{\tan^{-1} 2}{4} + \frac{\tan^{-1} 3}{9} + \dots$$

$$\frac{\tan^{-1} n}{n^2} < 2 \sum \frac{1}{n^2}$$

converges by Comparison Test

$$\lim_{n \rightarrow \infty} \tan^{-1} n = \frac{\pi}{2}$$

OR $\forall \epsilon \in \mathbb{R}$ L.C.T.

$$\lim_{n \rightarrow \infty} \frac{\frac{1}{n^2}}{\frac{\tan^{-1} n}{n^2}} = \frac{1}{\tan^{-1} n} \rightarrow \frac{1}{\pi/2}$$

